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SARDAR PATELUNIVERSITY
M. A. THIRD SEMESTR (CBCS) EXAMINATION
FRIDAY,  DATE: 21/10/2016
TIME: 02:00 p.m. To 05:00 p.m.
PAO3CECO03 - QUANTITATIVE ECONOMICS

Note:  Figures to the right indicate maximum marks of tho question, Total Marks- 70
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Q-1 (A) Write a detailed note on economics model, w45 W3et Uz [@ata Al e, 9
| (B) When a production of a commodity was 10,000 units then a total cost of that production was Rs. g4
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3,00,000 and when the production is increased to 25,000 units the total cost of production is
also increased to Rs. 3,00,000, Using these data find out the total production cost function,

WUR A cladfe] Geuleat 10,000 ABH o] cell Aef se Geuteat Wl 3. 3,00,000 & Ul w23
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Describe the components of graphical method of linear programming, Discuss the usage of 05
linear programming.

YR 2URYotoll WMol Actoll yzilell Al 20 Y2 D otolt GualoNod] 22 531,

OR
Narrate the importance of diagram. Discuss its types in detail, ‘ 09
g} Herel i, Aot ystdell Qo1 ual 53,

Let D =250 — 3P and S = 4P — 100 are the demand and supply functions respectively fora 09
commodity. Where, D = quantity demanded, § = quantity supply, P = price. Then find out;

WD =25 - 3P UA S = 4P — 100 uefsN Ng ol Mol wel yrelsl @QAA ey,
Wl D = Hiotell eell ual § = yraislef Yuiel dl A

(1) Equilibrium Price and Quantity HMHell Bl ol oesll

(2) If per unit subsidy of Rs. 10 has been given then it’s effects on Equilibrium Price, Quantity
of Equilibrium, Consumer, Producer and Government,
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(3) How much subsidy should be given to reduce the price by one half?
(Buet stll sect w2 Yeell worldl wiuch u3?

Give the meaning of matrix. Explain the various types of matrix with appropriate itlustrations, 08
AR wel will, ARsot AR Yot ozt Gersent ARet wuomdl
Using the Cramer’s rule, solve the following simultaneous equations. 69

Suroll [amell Guaol 53R oAt 2olud wllsedlod Gt A4,

2X+3Y+Z=125
8X —3Z =130
Y-2Z=5

OR

Discuss the Input-Output Model in detail. id.lel - o{ailel MWetoll @o1A uf 53, o 09
Find out an inverse of following matrix. «{l2etl AR el URY N 08
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Q-3 (A) Give the meaning of set. Discuss the Venn diagram. Describe the various processes on set with 07
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(€ "‘Using' the following data find out mean, median, mode, Q3, D7 and Pys. 08

appropriate iflustration,
aleell el adl, Aot wigRell vl 52 QRN oGl Do Gelgral WA W
Explain the concept of conditional probability with appropriate illustration. 04

C92dl deticlotioll v 092 Gelgwl MG Axendl.

There are 15000 families in a village. Out of them 9750 families are of farmers, 4500 families are 06
of landless labourers and 750 other families. There are 6750 families are living below the poverty
line. Using this information find out the probability for a randomly selected family from them is
from (1) BPL families, (2) landless families and (3) BPL and other familics.
As oumul 15000 geoll B, Axiel 9750 N §¢A, 4500 %ot QSR WtHRlet §Eoll Aol
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Explain the mathematical definition of probability. Discuss the vatious events of probability with 08
appropriate illustrations. o

dotcotioll ouBRs catvel, weadl, dellcloliel BRAY ugetadl Mozl Gelsel Wde Ul
Set A= {1,2, 3}, B= {3, 4} and C= {1, 4} then check the following results 06
QL A= {1,2,3}, B={3, 4} wel C= {1, 4} 8 Al o{lAotl uRRH usl

(1) AX(BNC) =(AxB)N(A x C)
(2) Ax(B-C) =(AxB)-(A x ()

Find out the probability for falling 53 Sunday in 2016, 03
2016M0 53 =AAal? tctale(l Yamtaow Wl

Natrate the properties and limitations of standard deviation, quartile deviation and mean 06
deviation.
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Narrate the steps to derive the Lorenz curve. @200 dls €lral el wolBlal agldl, 04
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Discuss the vatious methods for primary data collection. 07
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Give the meaning of series. Describe the various types of series with appropriate illustration, 05
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Using the following information find out coefficient of variation and quartile deviation, 06
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